Clothing: $4°
=

1st Grade: Hair Tie and Knot
Tsut[’00[ dOO Tsuy441




Student Friendly Objective:

= °] will recognize the ditference

between the male and female hair
bun and hair tie.




Hair Tie and Knot: Tsiit[’00] d00 Tsiiy44]

* Tsut[“00[ Hair tie
. * Ts11y441 Hair Knot

* Naha[tin Rain

* Sh1bit[’00]1 Sun beam
* B4’1zh00’ Brush




Hair Tie: Tsut[ 00]
Sh1bit[’00]1 Sun beam




OO O D1n4 Female halr knot Tsiiy441d 0

g0

@ Hair: Atsii’ Shitsii’ Rain: Naha[tindd



Din4 Male hair knot: Tsuy44l

1 v III

{ Hair: Atsii’ Shitsii’ Rain: Naha[tin (



Which is female/male? Describe the difference.
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